5514[0] §lig>3—~hNSWIRS

— %5+ 1500m

IR NEfiI No K& FhiliE Jgfsz FP B o) sOEK
v 1 1 BiR B EXSR(E3) 2.50.78
2 2 & B3 ERSR(BE2) 2.50.95
3 6 MmiF A CtHESER (F1) 2.51.03
4 5 Xfq t#HhEd ShEER (§1) 2.57.99
5 18 ¥l ZA tBEBEKXFE (K1) 3.15.55

5514M0] flig>3—hhSYIRS

— %+ 1500m

SR JIBAL No K% FhE JIE4z FP BE iR
SRS 1 10 AR 4Ty HESR (B1) 3.11.87
2 8 KH IBL HHAER (F2) 3.17.40

55140 §lig>3—MhSYIARS

—i%55+F 500m

SR IBfz No K& FhlE NI4Tz FP BR (550 5K
R 1 4 AR MR OBEER (1) 52.5
2 3 W X tESK (F3) 1.06.90

5514[0] fIE8>3—hhSYIARS

—i%Z+F 500m

SR JIBAT No K% FhE JIE4z FP BE iz
SRS 1 o T WA HHESR (B2) 53.58
2 11 KE )k SHHESER (F1) 56.83

55140 flig>3—bhSYIARS

—fi%5E+ 3000m

9K BT No K& FhiE JIE4Z FP EX =) 50 EK
RBS 1 1 iR BB ZRER(FE3) 5.46.31
2 2 &l B ERER(E2) 5.47.02
3 18 #vA ZA tBEBEKXE (K1) 6.10.12

5140 IBES3—MIYIAS
J—EA 1000m

SOVK  NBfiz No K& FhiE JNEATZ FP sk




SRS 1 12 THE BEZ KSSC (6F) 2.11.16
2 13 &% % KSSC (6%F) 2.21.91
3 16 ZH A1 KSSC (54) 2.22.07
4 15 K& fiZ= KSSC (54) 2.29.93
5 17 k& #838 KSSC (34) 2.41.52
6 14 k% =/t KSSC (54) 2.45.55
5140 >3- MSYVIARE
B+ 1000m
SUVR B No K& FhiE [[=E v FP Ex o sCoK
TR 1 31T EXHHEK (53) 1.48.84
2 4 5K MHrtHESR (F1) 1.48.94
5140 fIiES3—boVIXRE
T+ 1000m
SR JIBAL No K% Fhis JIE4z FP BE iR
RIS 1 o T WA HHESR (B2) 1.50.28
2 11 KE )k SHHESE®R (F1) 1.58.26
3 8 SRHA B HHESKR (52) 2.15.98



&=

ikt

wE

ikt

i1

i1



&=

ikt



